8.3

Problems (6 pt Problems)

. Simplify 2{/48x9y1825.

. Multiply and simplify (z — 3 — v/2)(z — 3 +/2).

Simplify
1—\/5_ 2-2
1+v3 1-2V3

(write using at most three radicals).

Simplify and write your answer using radical notation (assume z and y

are positive):
38/22y2
43/322\/3z

Exercises

. Evaluate exactly and estimate without a calculator at 4: v/10x2.

Simplify 3 /481991826,

Evaluate 82/3.

3
Simplify <21 / 2:;?) .
Simplify 5v/20 — 3v/45.
Multiply and simplify (7v/3 + 2v/5)(2v/3 — 3v/5).
Multiply and simplify (v/3 + 4v/5)(v/3 — 4v/5).
V3 +2V5

Divide and simplify —————

2v/3-3V5

Simplify and write your answer using radical notation (assume z and y

are positive): ,
(i)
43/(92)2\3y )
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